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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)

SCIENCE
fagm

ST B T ?.3?7" EPT;E“t ?Pm: 1166
e ; otal No. of Printed Pages:
Total No. of Questions: 61

S Ful fm s gg}
[Time; 2 Hrs. 45 Minutes] [Full Marks: 80]
whel @ R [Ade-

Instructions for the candlidates:

. ohemlf qon g o o) o & g @
nswers in their own words as far as practicable.

Candidates are required to give their a s

2w ot @) T R g7 o gl AR 7¥d &

Figures in the right hand margin indicate full marks. -
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While answering the questions, candidale should adhere to the word limit as far as practicable.

& 77T 95 B AT 9ET @ oy 15 e @1 JRRFT a59 29 131 &/

15 Minutes of extra time has been allotted for the candidates to read the questions carefully.

5 TEIE-IA S AT FE @8 - T G~ /
This question paper is divided into two sections — Section - A and Section - B.

5 @vg- § 4 4 TEghe g & Ty afiard €1 (fRE @ fore 1 @ FEiRT &) §T
Sav grerEr e 72 OMR - e # B2 72 wel g7 @ Fel/ At dier U7 # W [ el
A IR P SRS/ T TR/ S/ AGT e FT GAY GG F JAT A T E,
3JEIaT T TR S 8T/

In Section — A, there are 40 objective type questions which are compulsory, each carrying 1 mark.
Darken the circle with biue/black ball pen against the correct option on OMR Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail on OMR Paper, otherwise the result will be invalid.

7. @Y — % AT @ J7T & 3 R @ 18 7Y IO 5T &/ (7% # v 2 Fp
e &) g7@ sfdfte 59 @ve ¥ ¢4 O oty 797 9 73 & (797 @ [y 4 3@
iR &) geF o7 @ g Reey (yar @ w9) 3 0@ silv 797 a7 77 &

In Section - B, there are 18 short answer type questions of 3 subjects under Science (each
carrying 2 marks) as below: Apart from this, there are 4 Long Answer Type questions. Each
Carrying 4 marks. Each question has an alternate option.
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QU8 -3 / SECTION - A
(TS gy /_Objective Type Questions)

V) RNew (40x1=40)

mative out of following multi choice quu{mns

R F Jua S @ @ 31 Wlffq 2@ & RIC & %?
(A) O9aq ot

(B v qd
(©) S qwd (D) s wd
dentists use to use large images of the teeth of patients?
(B) Concave Mirror
(D) All of these

Which mirror do the
(A} Plane Mirror
() Convex Mirror

JK) st o (B) et o
(C) ITaet 1§ Swal o T D) &7 9 9 =&
Which lens is also called diverging lens?
(A) Concave lens (B)_.Cofivex lens

(C) Both the concave and convex lens'y, T (B)*None of these

3. G0l S wew o1 3 A aRarE?

(A) ueary (B) uRaRRa
©) ¥ % | O ¥ (g )
Who controls pupil’s size?
(A) Ciliary muscles , (B) Iris
(C) Eyelens : (D) Retina
4, ot g A B o iR T A R @ T R oW g R e o
AT &7 _
(A) free gfe < (B) dri-gfe 2w
f wa-wafem ©) Az

Which eye defect can be corrected by using ‘bi-focal lens’ consisting of both concave
and convex lens?

(A) Myopia | | (B) Hypermetropia.
' (C) Presbyopia - (D) Cataract
\ 2] ; Page 2 of 16
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5. t{fﬁmﬂmﬂﬁﬂm'ﬂﬁﬂﬂf?m;ﬁruf?fﬁ:aqmuimmﬁwnmﬁlm?ﬂ
i g FiRa 79 D R yarmes A A T 2 -
(A T e vl & fn 9 D A _{B‘fﬁt’r o R & A A @A
(O (A) 3R (B S (D) T A P TS
Inan experiment, the image of ap object formed by a concave mirror is obtained on @
screen. To dclcrmin? the focal length of the ,;1'"1-(-,,-_ the experimenter needs (o
measure the distance between the:
(A) Mirror and Screen (B) Mirror and Object
(€} Both (A)and (B) (D) None of these
6. TN B TR WER B A D R sy frg I o Sar s o6g 97
(A) 50 cm BIBW A FT I o (B) 50 cm WIHW gA @1 J@ad oA
MSCIﬂW@WWﬁW (D) 5 cm PHW & & e AW
Which of the following lenses would you prefer to use while reading small letters
found in a dictionary?
(A) A convex lens of focal length 50cm.
(B) A concave lens of focal length 50cm.
(C) A convex lens of focal length of Scin
(D) A concave lens of focaltengih of Scm.

7. FrfaRed 390 R et o S1 ame 27

- ‘(j{{ aree ~(B) M
(0) ey g (D) YRR
“ Which of the following is ST unit of electric potential difference?
(A) Volt (B) Ohm
(C) Volt per Coulomb (D) Ampere
ﬁ:"Jagum (@ wfde) & w1 gRuey F faga arr &1 41 —
(A) 987 &4 & S 2| (B) uRaffa 7l gar 81
(@Y 70 st T8 S R (D) Frar uRafifa g 2|
At the time of short circuiting, the current in the circuit -
(A) Reduces substantially (B) Does not change
(C) Increases heavily (D) Varies continuously
[112] Page 3 of 16 i
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R 2 omar &1 qEOR 8 @ R @ 2 -

(A) TRwT 3 3R (8] o 9 aix
(C) e (D) SRRyl

A positively — charged particle (alpha — particle) projected towards west is fl%lected

towards north by a magnetic field. The direction of the magnetic field is:

(A) towards south (B) towards east.

(C) downward (D) upward '
a%maﬁwmamaﬁfmmm&qvﬁﬁmwmwwﬁ.

MRa Rega grr @ e § e wRwer @ gear wRadw 2iar 87

. '.I"-.

(A) A B) |
(5/) I (D) wheré

A rectangular coil of copper wire is being rotated in a magnetic field. The’ direction of
the induced current in the coil changes once in each. :

(A) two revolutions (B) one revaluation

(C) half revaluation (D) one - fourth révalution
1. Rt Rre orrardt e s o g oheR e 6

) TR

(B) @@ RN H 3. A TR Tear ¢ |
(©) TE RR N 8IR o W g R

(D) Wit gl ® F9A g 21

The magnetic field inside a long straight solenoid- carrying current -
(A) iszero

(B) decreases as we move towards its end.

(C) increases as we move towards its end.

(D) is the same at all points.

3. AR g @ R @ W g waifts suge g &7

(A)  THTA gUl (B) Suw qUvr
\(}?{ Jqas <av (D) = ol
What kind of mirror would be most suited for a solar cooker?
(A) Plane mirror : (B) Convex mirror
(C) Concave mirror (D) All of these
[112] ' Page 4 of 16
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o Tﬂﬁgﬁﬂﬁ“{ R (O IR 0 BET R P TR off -
:Cl aﬂ ::j JBY g
The main aim of *Chink (D) fsreh
o . Upko Movement' was to conserve -
(A) soil
& wsiee (B) trees |
14, Prefifen 3 - (D) eclectricity |
& U DR} @ d T B Ry far S 87
(A) Ca (HCO,), (B) Ca(OH);
(C) Na(OH) Jm Na (HCO3)
Which of the following solutions is used for white washing walls?
(A) Ca (HCO;), (B) Ca(OH),
(C) Na(OH) (D) Na(HCOy)
15, Na;SO,(aq) + BaCl, (aq) — BaSO, (S) + 2 NaCl (aq)
SUF e s & -
(&S o e (B) v st
© fa fawme sfifar ) 7 ¥ D, T
Na,SO, (aq) + BaCl, (ag) — BaSQa(S) +2 NaCl(ag)
The above chemical equation,is -
(A) Combination reaetion (B) ‘Decomposition reaction
(C) Double displacement reaction (D) None of these
16. frfoRes § & $F |1 797 g8 7 &7
(A) CaO (B) Ca(OH),
(C) CaCO, (D) Ca
Which one of the following is slaked lime?
(A) CaO (B) Ca(OH),
(C) CaCO; (D) Ca
17, a9 Na,CO; T wiehra e @1 pH & -
(A) 7 (Bf 7%
€) 79T (D) ¥ ¥ PR &l
pH of aqueous solution of salt Na;CO; s -
(A) 7 (B) More than 7
(C) Lessthan7. ' (D) None of these
[1 1 2] Page 5 of 16 [Turn over
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Jﬂ."*”’-“' (B) AFN
(L Topaim (D) =

p——

Of which meial. the ‘Bauxite’ 15 an important ore?

(A)y Copper (B) Zinc
(C) Alumimum (D) fron : sy
I{)-_ mwmﬂﬂ?ﬂqmquﬁwﬂq?ﬁgq;;rﬁﬁTTrﬁﬁm %1
(A) & (B), &l
: ) from
Of which metal. the thin Jayer is coated over iron and steel to protect them 110
rusting?
(A) Copper (B) Silver
(C) Gold (D) Zinc ' S
Q). & TR e @ T $99 T wEy W% uied’ (Plaster of Paris) W1 '
HeAT 87
(A) fadee goi ﬂ faream
(C) 71 T (Dy, =11 g1
Which chemical compeund on heating becomes ‘Plaster of Paris’?
(A) Bleaching Powder (B) Gypsum
(C) Lime stone (D) Quicklime
21, viEE # Sufted geaies 8 € - T
T F i
(A) _oH B) —C
0
Pl = }3)/ I
© A C— C—OH
0
The functional group present is propanone is-
e
B) —C
(A) oy (B) -
0
0
s s I
(C) H (D) ¢ — C—oOH
[1 12] Page 6 of 16
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22, WD a9 B IUPAC 7 3

AT el o (B) ioitem e
{6} Wity \yj/s“-r?i N ard A
The IUPAC name of acetic acid is -
(A) ethanoic acig (B) methanoic acid
2{. (©)  propanone (D) none of these
R et e # g T B g o § —
(A) i T B P
€) muey B &
In electrolytic refining, impure metal is taken as:
(A) Anode (B) Cathode
(C) Electrolyte (D) All of these
24w R @ R wenfe far?
(A) ShRrER \ye{ eteH
©C) w=eiw (D). 2" Aot
Who established ‘Laws of Octaves'?
(A) Dobereiner (B) Newlands
(C) Mendeleev (D) Henry Mosely
25. s st Fram @ argeR, a1 o o -
‘9/ URAIY] T HT 10 B & |

(B) ORHIY] HEAT BT 1Ad B @ |
(C) URAIY] WIgA I M Ferd & |
(D) URAIY] I FT A B 2 |

According to ‘Modern periodic law’ properties of elements are a periodic function of

their -

(A) Atomic mass \gl)/Aﬁmic number

(C) Atomic size (D) Atomic volume

[Tum over
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26, . . :
Giz g /@Y Ay ey o s
WO W (B) OH’

) Cr (D) 02‘
Which of the following ions can turn red litmus solution blue?
(A) R (B) OH
(C) Cr (D) o%
27. ureu # wrgem IRar € -
) W @7 9§ (B) W &1 UrEd
(D) affairar= BT &

(C) 3™ =1 3 &1 98

The Xylem in plants are responsible for -
(B) transport of food

(A) transport of water
(D) transport of Oxygen

(C) transport of amino acids
28. ﬁﬁ%@aﬁﬁrﬁqﬁﬁmﬂﬁrWﬂw'iﬁwﬁmmﬁﬁ?
(A) ADP ATP
(C) DTP (D) PDP
Which of the following is known as ‘€nergy currency’ of cells?
(A) ADP : (B) ATP
(C) DTP . (D) PDP
Zgwq%ﬁﬁ'ﬂ?ﬁwmﬁ—mwsﬁm;?/ |
(A) BrT : , ) #}Y |
(C) mealrT (D) “3H q S T

Where does the exchange ofgases take place in leaves?
(B) stomata

(A) vein
(C) midrib (D) none of these
30. EB=9 ¥ Ve (ﬁﬁﬂ)ﬁﬂn{v’iw&quﬂﬁmm%‘_
(A), BHSI gRIT (B) foerm g
anferel gRT . (D) TH W

(
- he blood is pumped from heart to the entire body by the -
(B) ventricles

(A) lungs
(D) all of these

(C) atria :
31, @ 1 Uiy g el @ e B Y

(A) Sifei §%i¥mﬁmm§%a
4€) cfafis s (D) Rrafer

Which plant hormone is responsible for wilting of leaves?
(B) cytokinin

(A) auxin
(C) abscisic acid (D) gibberellin
[1 12] Tag2B8of 16
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32. WS T e gfy p -

(A) wmTRIrEg
= (By &t
JJ()} e i i
(D) wuprrTEt

Downward growth of roo j .

(A} phototropism (B) geotropism

13, LEF; If:;:::!:l?!;;ﬁam ) (D) chemotropism
(A) Nmmﬁﬁﬁmﬁg Jﬂ’j/qzﬂqﬁﬁ‘mﬂfﬁﬂﬂgi
(£) e S o e 4 (D) wafearas 1 fawm 21
Pons, medulla and cerebellum are parts of -
(A) forebrain (B) mid-brain
(C) hind brain (D) cerebrum
3. Fafafed 3 A sfifes i 78 2
(A) 77 (B),/aar
(C) &R .(EJ/ Z2q & geHl
Which of the following is not an involuntary action?
(A) Vomiting (B) Chewing
(C) Salivation . (D) Heart beat
35. @ifI® T qdhe g BT F -
N erharE (B) e
(C) wioAIfETA ¥ (D) e 4
Asexual reproduction takes place through budding in -
(A) Amoeba (B) Yeast
- (C) Plasmodium (D) Leishmania
36. I[EIV] BT AT BT § —
By g ¥ B) T F
(C) sisrem 4 (D) T a4 &
The formation of sperms takes place in -
(A) Testes (B) Uterus
(C) Ovary (D) All of these
3199 1 D A G FI & ﬂa/
(A) TRTTHIA : ) afdem
(C) afdfar (D) sl
Which part of a flower becomes fruit?
(A) Anther (B) Stigma
(C) Style (D) Ovary
. % S |
[112] Page 9 of 16 [Tumn over
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38, IRT T 1 ot i wrw e @

(A) T A U & ¥
(O T SR & A 3 (D) fwet ¥ A
The perfect pair of sex chromosomes are found in -
(A) male (B) female
() male and female both (D) none of these
30, 7T W B Bl W e g @ R g 8 &
}(21 21 " B) 2 |
) 23
\ How many pairs of Chromosome arﬁid‘: a normal cell of human body?
Ay 21 (B) 22
) B3 (D) 46
40. 9 F § 39 -3 w@ § a9 S Prefrewdy gep & —
:gi/ﬂm.aﬂmm (B) =T, Fh) TRl AINCD
HHl @ D, 3% WIWR (D) o, v W@ U™

Which of the following groups contains only biod8gradable items?2
(A) Grass. flowers and leather (B) Grass, woodand plastic
(C) Fruits-peels, cake and rubber, (D) Cake, woodand grass

gvs -9 / SECTION-B
- 9% _/ Non - Objective Type Questions

Ao wre/ PHYSICS
Y-S 9% /_Short Answer Type Question

fdw/ Instructions: _ Marks:40
¥ G 1 W 6 T 7y 9aNg FE & §4 9 R 9 get @1 oow & |

There are short answer type questions form question no. 1 to 6. Give answer any four

questions out of six short answer type questions,
I/ i <ol g1 R @ o o i fo SR T %)

lllustrate the new Cartesian sign convention for reflection by spherical mirrors

’_:1_1 2] . Page100f 16
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REGEs R N o o) g ;
T B W W™ Ry 9 URIRY & e o AR o @@ ok 9 uldidd

Pl TR, AR () Vd R @) e ) .

Draw anay di
» ay diagr - : . T
S HRETam for image of an object placed at cendre ol curvature of a convex

lens. Write
i < Ih Wl (N % TH .
¢ ilture, position, and size of (he image formed by the lens.

. u
3 ﬁaeﬁ?mﬂaaﬁﬁgﬁqﬁwiﬁma{mw o) wa wHioR @A § @i sl S
?
& @)
Why an ammeter : : in seri !
hy an ammeter and a voltmeter are connected in an electric circuit in series and 1n
parallel respectively?
4 @ R B3 99 B IRt v et A vt @i )
Draw magnetic field lines around g bar magnet.

b) e &R WeRor AR (@R wgR) ¥ @ ot R @ v fga o A @
W@ 2 79 &r M D e g w guaa oY e @ 27 0

A current through a horizontal transmission wire flows.in e;a.\'l @ west direction.
What is the direction of magnetic field.at a.point directl pbelow it?

5. 3 fagm o Rl @ 5 B s 100W. 220V Ton TR F1 60W, 220V 3, e
W @ AR WA A waienr | i fga smgif @ e 220V @ o R W
Recril aRT o e 22 @
Two lamps, one rated 100W at 220V and the other 60W at 220V, are connected in
parallel to electric mains supply. What current is drawn from the main line il the
supply voltage is 220V? :

6, Shaw G o @ wfR € Q)

What are the disadvantages of fossil fuels?

& g 791/ Long Answer Type Question :-
7. (a) 3fc IV S MR feret | (143+2=6)-

State types of defects of vision.
(b) 3 AN qU ST GARA B IR | wA0 ¥ e |
[1 12] : ' Page 11 of 16 * S v
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Write these eye defects and their correction in brief. -
() A e e QO M af a R R @ HTHA 80 ¢m T W LR
B W B @ g smaers e Y amfy e et @ @

_— y : i e nature
The far point of a myopic person is 80cm in front of the eye. What is th

and power of the lens required to correct the problem?

) JUgr / OR
{}/ A B P @ o & e vw R aRuer &R |
Draw a circuit diu‘gmm for studying Ohm’s law.

/u[‘: M & o o)

State Ohm'’s law.

y[) aﬂna?ﬁuﬁﬁwﬁﬁmﬁaﬁv-lmaﬁtﬁﬁaﬁ?ﬁwﬁmﬁ
ford |
Draw V-I graph that verifies Ohm’s law. State the nagure of thé'V-I graph.

X e/ CHEMISTRY <

mﬁ{, 737/ Short Answer Type Question
337,/ Instructions:

7T T 8 ° 13 aF qg-gaad 5o & 37 ° B g e a7 9av 7/

There are short answer type questions form question No. 8 to 13. Give answer any four

questions out of six short answer type questions.

f

g Semerdh vd SR e F &7 e Al @)

What does one mean by exothermic and endothermic reactions? Give examples.

[-1_1 2] - Page 12 of 16
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/mﬁﬁw&ﬁﬁmmyamwi | 2)

‘\ * » L] 5 g - -
What is a neutralisation reaction? Give two examples

10. ®R9 FaEy -
) SR, e e o e o e 21 =141
(@) Qﬂﬁﬁmmmﬁmﬁaa@tﬁﬂiﬂmwmmmm
Give reasons:

(@) Sodium, Potassium and Lithium are stored under oil.

(b) Aluminium is a highly reactive metal. Yet it is used to make utensils for

cooking, |
D/Eﬁaﬁ:' fig wwe TR - C (e=11)
(@) H,8 (b)oF4

L}

Draw lhe electron dot structure for —

(@ H,S b) F
12. quﬁ’mﬂqﬁ@mﬁwﬁaﬁﬁaﬁaﬁﬂmaﬁmﬂﬁﬁﬁ? @)
Why is the conversion of ethanol to ;thanoic acid an oxidation reaction? -
Ww@mnmmmmmwwﬁmwm1w
J P W T e fER FoTeTs g @)

Write the electronic configuration of Nitrogen (atomic number 7) and Phosphorus

(atomic number 15). Which of these will be more electronegative? :

[1 12] Pagﬂ 13 of 16 rr“m over
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difarrfta av1,” Long Answer Type Question

yﬁvﬂm«n A A wienant rfe My
a) At |

(i WA

o unds

tiv) ¥=afs

AN

Draw the structure for the following compounds.
(1) Bromopropane

(11) Propanal

(in) Propene

(iv) Benzene

(v} Hexane

S /OR

PAeiaRaa affesan wd?
()  qureE afwfear

(1) foare aifyfar 32 I, 51551 T,
(iii) faRema= affEma &Ie

)

e ¥ & gafda maft orreratdl,
, E3fdAe

V) R xR arA & Br...

What are the following reactions?
(i)  Combination reaction
(i1) Decomposition reaction’

(i11) Displacement reaction

BSEBResult.In

(iv) Double displacement reaction ﬂﬁz aﬁl tJ )

[112] . Page 14 of 16
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whafesm,/ BlOLOGY

Gty . T3/ Short Answer Type Question
/" Instructions:

T qEqr :
15 % 20 T Ag—gmiy go7 & g7 @ vl ae et @1 O &/
There ar. - :
€ short answer type questions form question no. 15 t0 20. Give answer any four
questiosn out of six short answer type questions.
F mewﬁwm%?@oﬂﬁﬁmwmﬁmw
B R Z

i ' + i iration? me
What are the differences between aerobic and anaerobic respiration? Name SO

organisms that use the anaerobic mode of respiration.

16. T S B B Fa &7 i @
Why does the nervous tissue act?
17, gerE @ Q&7 | @)
Why does menstruation occur?
/w—ﬁﬁmﬁ@ﬁwﬁaﬁmuaﬁﬁmwﬁ? @)
What is the difference in mode of reproduction between unicellular and multicellular

organisms?

ymmmﬁ?wmmmwﬁﬁm @)

What are trophic levels? Give an example of a food chain.

[112] Page 15 of 16 [Tum over
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}l/aﬁaﬂWﬂmﬁhﬂﬂaﬂmmaﬁfaﬂmmﬁq? )

Why should we conserve forests and wildlife?

f-gwdla w7/ Long Answer Type Question
21, Tod &l A woe @ R @ e #v¥) _ (._5)

Explain the modes of reproduction in single organism.

Yqr / OR

R TR dF BT it B I g S wral &1 9 B

Draw labelled diagram of male reproductive system and explain its functions.

fdzre 9 & wafda @afl vrsrastd],
3T YA, 1951 17, ,vzﬁﬂz
&Te, ATt era e, udtenfe
maﬁrﬁﬁgmmﬁﬁmﬁm
Uge Ural & fAe...

- BSEBResult.In
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